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Question: 1

____________ is a list of actions, separated by a semicolon(;) that will be performed if the predicate is true. 
PredicateA.

ActionB.

ActionListC.

SeparatorD.

Answer: C

Question: 2

What is environment variable of the location, where the Generated tickets are present.C 
IQ_REPORT_OUTPUTPATHA.

IQ_REPORT_OUTPUTB.

IQ_OUTPUT_PATHC.

IQ_REPORT_OUTPUT_PATHD.

Answer: D

Question: 3

The two key components of the FINRPT infrastructure are ftserver and Finacle Report Designer.
TrueA.

FalseB.

Answer: B
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Question: 4

What is the default path where scripts are located? 
HOME/lib/ScriptsA.

IQ_HOME/ScriptsB.

HOME/ScriptsC.

IQ_HOME/lib/ScriptsD.

Answer: D

Question: 5

Thin Client contacts Application Server using LIMO framework
TrueA.

FalseB.

Answer: A

Question: 6

Which processes are not part of 'queueHandlerServer'.
1.SETPROCESSOR
2.CONFPROCESSOR
3.AEGPROCESSOR
4. BATCHPROCESSOR

1 and 2A.

3 and 4B.

1 and 3C.

2 and 4D.

Answer: B
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Question: 7

In Finacle Treasury, while generating reports, which menu is used to map the stored procedure and the jasper file?
Blotters->Generate ReportsA.

Blotters->Additional ReportsB.

Blotters->View ReportsC.

Blotters->Report Setup D.

Answer: D

Question: 8

Thin Client Customization can be done using which tool. 
Finacle Report DesignerA.

Visual Basic 6.0B.

NoneC.

Thin Client can't be CustomizedD.

Answer: B

Question: 9

Which are the processes which don't poll on any Queue Tables.
1.CONFPROCESSOR
2.TIQQH
3.HOSTPROCESSOR
4. EFTININTERFACE

1 and 2A.

3 and 4B.

1 and 3C.

2 and 4 D.


